computor paper with answer key 2018
E-BOOKS FOR RSMSSB LDC EXAM 2018 : - CLICK HERE
1 If you want to compare the price of wheat over a period, which index will

you use ? https://rajhindinews.com/e-books/
(A) Volume Index (B) Aggregate Index
(C) Both (A) and (B) (D) Price Index
M AN T & q7d B 99 H@ A gaTl T Aed § A, DA gawm w0 G /9 7
(A) SEaT gEHs (B) @@ gusis
(©) (A) 3 (B) F (D) 77 gEoH
RSMSSB LDC BHARTI 2018 FULL INFORMATION :- CLICK HERE
2 is outgoing e-mail server.
(A) POP (B) POP3
(C) SMTP (D) PPP
_ oTSTmE $RE wE ¥
(A) POP (B) POP3
(C) SMTP (D) pPP

3 The fourth moment about the mean is used to measure :

(A) Mean (B) Variance

(C) Skewness (D) Kurtosis

el & WY ufE @ geEdr | B Ml W A wHA & |
(A) wre (B) ferwm

(C) Ferwwran (D) ggsinia

4 Infant Mortality Rate per 1000 population in Rajasthan as per Economic Review
2017-18, in the year 2016 has been

(A) 41 (B) 34
(€) 30 (D) 20
i wer 2017-18 & orger fy gger, wRy ww My W=, 2016 F fael @
(A) 41 | (B) 34
(C) 30 (D) 20
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Any statistical measure computed from population data is known as

(A) Statistic (B) Parameter

(C) Standard error (D) Sampling frame
V¥ @5 H Fie® "N, Ty 999 W §[ e A %, 99 9w
el T |

(A) ufasi= (B) wraw

(C) wwmer fawm (D) wiraas i

Which MS Word feature enables to enlarge a letter at the beginning of a text block
to two or more lines ?

(A) Word art (B) Drop cap
(C) Foot-notes (D) Tab stop

TH T WH B JOA H A YN VU WAl 9B, B W B TS B $ WQ
T UE g€ H B9 W GEl IugE €7

(A) ¥ o (B) @ %9
(C) Pz = (D) *™ =

The full form of NITI Aayog is

(A) National Institution for Technical India
(B) National Institution for Transforming India
(C) Novel Institution for Transforming India
(D) Novel Institution for Talent India

Hify emamr @ owfia ww %

(A) TE 9T dhn e

(B) U™ wRa uftadd wwn

(C) @ wra uftgds wen

(D) a9 WG Wi g

371 = rajhindinews.com 0.
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8 How many perfect squares numbers are there between 120 and 300 ?
(A) 6 | B) 7
©C) 8 D) 9
120 @T 300 % 4= P Peeed qof A wemd ¥ 7
(A) 6 B) 7
) 8 ») 9
9  Mother wants to divide ¥ 2492 between her daughters Sunanda and Girija in the
ratio of their ages. If ages of Girija is 16 years and age of Sunanda is 12 years,
then Sunanda will get
(A) T 1424 (B) ¥ 978
(C) T 1068 (D) T 1384
|1, dfedr g oK fiften § % 2492, o oy % orua ® sfew wwedr ¥ | gfy fifn
W Ag 16 a9 qar gEr H ong 12 q¥f ¥, 99 gEr urg son -
(A) T 1424 (B) T 978
(C) T 1068 (D) T 1384
10 District in Rajasthan, which has its Headquarter’s name different from the district’s
name itself is - .
(A) Rajsamand ; (B) Pratapgarh
(C) Pali (D) Dungarpur
o ¥ wE e fros geawa @ o sw e % om @ fas ¥ -
(A) RS (B) warwTe
©) e (D) g
11 The monopolistic firm will be in equilibrium where
(A) Price = Marginal cost
(B) Marginal revenue = Marginal cost
(C) MR = MC = Price
(D) Marginal cost = Total cost
THEUEE B GG ¥ B[l §, 99
(A) I/ = @ AT
(B) @mr amm = €M @rd
(C) ¥ oM = §W @rE = g
(D) 9= @ = F@ @rd
37] whu [P.T.O.
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12 test is satisfied both by Fisher's and Kelly's formula to calculate index

numbers.
(A) Factor reversal (B) Factor
(C) Reversal (D) Reversal factor
wam @i Fisher's 3t Kelly's g3 fe® goee §@ @@ & & dge
HT T |
(A) T Sepradr (B) =
(C) Sehraa (D) Teprgar T@

13 What is the theme of world Water Day 2018 ?

(A) Waste Water (B) Water and Jobs

(C) Nature for Water (D) Water and Sustainable Development
2018 % w1 Raw & oW ww ¥ 7

(A) ¥ TRX (B) arx Uz wiew

(C) A"T WY =Y (D) @Ry Us gR\USW TT@9ez

14 "A sampling is said to be good if all possible sample having equal chance 1o select.”
It was said by :

(A) Simpson (B) Croxten and Cowden
(C) Karl Pearson (D) Fisher

‘e giEEE OTERT 99 HET WM WY Qe e ukest ¥ g 9% & swew sue
€I gE wmeEr e

(A) Tgmg= (B) wiadeT Td &Ee
(C) =w s (D) fwst

15 Van Vihar sanctuary is in
(A) Bhartpur (B) Dholpur

(C) Kota _ (D) Sawai Madhopur
e s

(A) ¥EgT (B) HIgX

(©) @ (D) war§ wrEIge

37] = rajhindinefvs.com [PT.O.
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16

17

18

19

Which tool helps better for what if analysis in MS Excel ?

(A) Track Change (B) Formula Auditing

(C) Goal Seek (D) Pivot Table

TH TR UEEA ¥ 97 3% AN % U erer W deaY WeE &Y gear § 7
(A) ¥® T (B) wiqwn sifsfen

(C) Mw @ (D) uEER 9w

Infant mortality rate (IMR) per 1000 live birth in 2016 in Rajasthan is

(A) 41 (B) 34
(C) 36 (D) 44
e #2016 F Rty g« (IMR) Wiy &ox sifam wif@ @ %
(A) 41 (B) 34
(C) 36 (D) 44

The oligopoly model in which the businessman assumes that his competitor's output
is fixed and he decides how much to produce is

(A) Cournot model (B) Chamberlin model
(C) Bertrand model (D) Stackelberg model

R SrEw ey e U8 "War € RF sae witesl @ Saew Ry € oqur 9w
qg &I ¢ % feaw S fear o, 9% Wiew ®

(A) FAI AEw (B) TratfaT Hisd
(C) wzfz =r== (D) Vawwat wed

Where a blind folded selection has been made from the number of slips based on
the requirements, it is called as method of random sampling.

(A) Sequential list (B) Grid system

(C) Random number (D) Lottery

W of@ §= B> Sgd O ud ¥ ¥ omasged & HgER 99 e o ¥, 9@ @
fafy we1 wmr &

(A) woes o (B) fire woreh

(C) ¥a wem e

37] e rajhindinéws.com | S,
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20

21

22

23

The known variable in a regression equation is called as variable.
(A) Independent (B) Dependent

(C) Attributes (D) Active

YA ST B A A @ o HEd E |

(A) @& - (B e

€ ™ (D) wfem

If the price level in current year increases by 20% compared to base vear, then

purchasing power of rupee will be
(A) 83 paise (B) 120 paise
(C) 80 paise (D) 20 paise

A qe WX R ¥ @ ga ¥, g 9 ¥ 20% ¥ oA ¥ o 592 = =3 ahw
Lu|

(A) 83 ¥ (B) 120 ¥

(C) 80 ¥ (D) 20 &

Which method of income measurement is used for construction sector in India ?
(A) Product method (B) Expenditure method

(C) Income method (D) Product and Income method both
e Pt & F o & e & g B Rt em ¥ & o 2
(A) wamr fafa (B) = fafy

(C) omg fafy (D) SarE wuT oy Tty =
Lacchiram initiated which style of Khyal tradition in Rajasthan ?

(A) Shekhawati Khyal (B) Jaipuri Khyal

(C) Kuchamani Khyal (D) Turra Kalangi Khyal

o™ ¥ wE T e T @ wadd Rear mar ¢

(A) Sl e (B) vyl wam

(C) Faml & (D) T & e

37] wiu rajhindinesws.com [P.TO.
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24 The mean of a table is 20 and standard deviation is 5, then its coefficient of
variation is : :
(A) 20% B) 2%
(C) 25% (D) 5%
frdt ool @ e 20 ¥ ol ww frmew 5 %, @ Swew yww freme quie g o
(A) 20% (B) 2%
(©) 25% (D) 5%
25 is a sequential list of questions which is used by the researcher himself
to collect the data from the field.
(A) Observation (B) Interview
(C) Questionnaire (D) Schedule
gt @ o g ¥ frew w@im egEuEeal I & § W e
W ¥ '
(A) rEEET (B) w&ehit
(C) weT= (D) e
26 When mean of a group is 79 and variance is 64, C.V. =
(A) 23.43% - (B) 81.01%
(C) 10.12% (D) 64.92%
e ga? " 79 B ol wEe 64 ¥, 9@ WEIO Uik o
(A) 23.43% (B) 81.01%
(C) 10.12% (D) 64.92%
27 The main aim of ‘DWCRA’ project was the development of
(A) women of urban areas
(B) women of rural areas
(C) women of rural and urban areas
(D) women and children of rural areas
‘DWCRA’ T &1 J&7 9899 1 § 7
(A) v Afeenell & fawm & e
(B) uriior wigwnont & fam @ g
(C) &0 7 v Afitwmel & fwm o Ae
(D) o wfee @ T & faew @ AR
37] e [ P.T.O.
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28 Who is called the father of Rajasthan History ?
(A) G N. Sharma (B) Shyamal Das
(C) G H. Ojha (D) Col. Tod
TG gfoer & wwe 59 e W & 7
(A) s, wa. gmt (B) yamwE™
(C) =i wa. afsm (D) & =

29 Out of the following precision in sampling is not dependent upon :

(A) Size of Sample (B) Method of Estimate
(C) Method of Sampling (D) Mean of Sample
witest arege® a1 agEyE ¥ gear Y ¥ feed v @ wear &7
(A) wftest amer (B) e fafy

(C) i fafy (D) witest &1 wmem

30 As the period of moving average increases in time series, then
(A) Closer will be the trend curve to the original curve
(B) Farther will be the trend curve from the original curve
(C) Trend curve will coincide with the original curve
(D) The gap between the trend curve and original curve will remain constant
& I ¥ =w Arem @ orafy 99 wed W ¥, @
(A) wafa 9%, 90 a6 & Sa1 & s Tode B
(B) wgfa =%, g@ =% ¥ Iamm & et W &M
(C) wgfa @&, g =% ¥ THRd & wWRm
(D) wgfa &% T 9@ 9 & A & 0w Rew @

i P.T.O.
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31

Most of the time series relating to Economic and Business phenomenon uses the
(A) Multiplicative Model

(B) Additive Model

(C) Both Multiplicative and Additive Model

(D) Associative Model

Al s Td Sadiae wW AvEl Uge &l §

(A) e frest |
(B) drw fmst ,
(C) T ud ang fraet Qe
(D) wEwd HiEw
32 Which famous saint of Rajasthan is associated with Katariyasar in Bikaner ?
(A) Haridas (B) Siddha Jasnath
(C) Jambhoji (D) Dariyavji
THEH % B ¥ uig '@ dfemt ¥ sanaet ¥ gdfa ¥ 7
(A) shem (B) fg ww™
(C) wet (D) =faras
33 What is 'Annapurna Bhandar' with reference to Rajasthan ?
(A) Fair Price Shop (B) Equal Price shop
(C) Grain storage (D) Free Food for BPL
TSR & §a¥ § ‘SFIgul WU o ¥ 7
(A) sfaq 7@ @ (B) &N Y& @ FEMA «
(C) &= W= (D) BPL 7wt & fou gwa @m0
34 The value of 2.3+23+2.3+2.3 is
(A) 0 (B) 9.2
(C) 126 (D) 1.26
23423423423 M A ¥ -
(A) 0 (B) 9.2
(C) 1.26 (D) 1.26
37] wite [PTO.
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36

37

38

Who was the Agent to Governor Gcnerai in Rajputana at the time of Revolt
of 1857 ?

(A) George Lawrence (B) Henry Lawrence
(C) Iltudus Thomas Prichard (D) Charles Metcalf
1857 @t Wifd &% ¥4 TN g TR SWR@ §T USYAET B 477
(A) = @i ' (B) ¥ wi=w

(C) Tgew dama Rrerd (D) =g Az

The compound interest on a certain amount for 3 years at 10% per annum is
% 331, then simple interest on the same amount for the same time and at the same
rate will be

(A) T 200 (B) T 250

(C) T 300 (D) Z 350

afy fedl Tt T 10% affe o & 3 ot & faw emwafs = T 331 @ @ od R
W Y G99 & U 99T 99 e 9T YA S BN

(A) T 200 (B) T 250

(C) T 300 (D) T 350

Motilal Tejawat was prominent leader of the :

(A) Farmers Movement (B) Labourers Movement
(C) Bhil Movement (D) Students Movement
A ded waitte 4 AT A W ¥

(A) Trem ariEe (B) A9gX et

(C) ¥ ergEs - (D) BE EE
Sampling is the only option in the following situation :

(A) A life of a bulb

(B) Blood test of a person

(C) Knowledge of complete population
(D) To find the mean of population
sfree # Red wE alwr ¥, A Refr % o:
(A) s s & figh o

(B) & =fm & g # wiw §

©) T ¥ & wyol o ¥

(D) swEenm & "9y e §

37] e rajhindinews.com [PTO.
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40

41

Highest peak of Aravalli range is —

(A) Ser (B) Nag Pahar
(C) Guru Shikhar (D) Achalgarh

IR B TeEH @& ¥ -
(A) WX (B) - uETs

(C) TimEt (D) s=erTE

The correct measure of economic growth is

(A) persistent increase in real per capita income

(B) increase in gross domestic product at current prices

(C) increase in gross domestic product at constant prices

(D) increase in employment opportunity

s wfa &1 | W ¥

(A) afys oy =afe oma & waa gfs
(B) W @Al 9T T Y SR H ghs
(C) Rex #mal W ¥Hd W SR ¥ Jhg
(D) Temm e ¥ ghg

Which is not the correct cell reference ?

(A) R[-2]C (B) $D17
(C) R5G7 _ fD) $G$8
e W AW Tmew T 7

(A) R[-2]C (B) $D17
(C) R5G7 (D) $GS$8

g rajhindiln?’ews.com

[PT.O.


Administrator
Highlight

Administrator
Highlight

Administrator
Highlight


42

43

44

45

The product of 2% of a number and 5% of the same number is 152.1 then what
is one third of that number ?

(A) 120 (B) 130
(C) 360 (D) 390

freh dem ¥ 2% T I wewn & 5% & PEwd 152.1 ¥ 99 39 wen w5 W ey
T e

(A) 120 (B) 130

(©) 360 (D) 390

Which one of the following is not a characteristic of an ideal Average ?

(A) Easy (B) Rigid

(C) No bias (D) More time consuming
frafafeg & & @ omest wem & @@ T ¥ 7

(A) ¥@ (B) et

(C) Frvm (D) O §WE A @

'Kuvalaymala' is written by whom ?

(A) Chandbardai (B) Haribhadra Suri
(€) Udyotan Suri (D) G H. Ojha
Faaaaen fhae @ fadt ¥ 7

(A) == (B) ®ftwm gt

(C) wuaw §it (D) . wa. s

The replacement level of total fertility rate for India is

(A) 1.0 - (B) 2.1
(€) 2.5 (D) 0 |
qE % R0 FE SEAT oY & TIeERA WO |
(A) 1.0 B) 2.1
iC3- 25 (D) 0 |

37] whm rajhindinews.com [PT.O.
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46 Which of the following district is awarded with e-Gov Rajasthan Award 2016-17 ?

(A) Nagaur (B) Ganganagar

(C) Jaipur (D) Ajmer

frr & & 9 A # e-Gov Rajasthan ge@R 2016-17 forem & 7
(A) i ' (B) TR

(C) smge (D) TR

47 What is the minimum number of series required to calculate partial correlation ?
(A) 1 B) 2
€) 3 D) 4

ATy TeEEy 1 AT W H MU =AW R w6 ATenel @ enavawar g ¥ 2
(A) 1 {8y 2
(C) 3 (D) 4

48 Regional or Geographic data may be best represented by

(A) Pictograms (B) Carto grams

(C) Gantt charts (D) Zee chart

R @ dwifee el % e b R aifte Suge T ¥

(A) R=-v@ (B) wmfas

(C) = fa= (D) st o= P

49 Which cities of Rajasthan are famous for the art of ‘Koftgiri’ ?

(A) Bikaner and Jodhpur (B) Kota and Bundi
(C) Alwar and Jaipur (D) Jhalarapatan and Baran
ToaE ¥ B & W % fig a8 e we ¥ 7
(A) ST Td SEgT (B) ®i@ wd =
(C) owEt T FaY (D) FEAURT TE AR
37) whu [P.T.O.
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50 Which feature automatically recalculate the whole worksheet if any change is made

in a single cell
(A) Formatting

o

(B) Auto-calculation

(C) Auto-correct (D) Function
TH AW § B AT B U BN G BEl @@ 8 Q@ g% M ¥ gEIE &
1
(A) wreafET (B) aifer SepasH
(C) & Fxw (D) asH
51 has 255.255.0.0 default subnet mask.
(A) Class B (B) Class A
(C) Class D (D) Class C
@ 255.255.0.0 fEwwe wEe W ¥
(A) Class B (B) Class A
(C) Class D (D) Class C

52 Which of the following lakes in Rajasthan is not a fresh and sweet water lake ?
(A) Kolayat lake (B) Chhapartaal lake

(C) Panchpadra

(A) HEmEa e
(C) awe #iw

(A) RUDA
(B) RIICO
(C) RAIJSICO
(D) REC

(A) ®=

(B) T
(C) it

37] e

lake (D) Jawai lake

frefafen didl & @ S A @S, T B W T R ?

(B) ®mw@w
(D) v@E

53 Which of the following combinations is NOT correct ?

agency to promote urban non-farm sector in State

an apex organisation for growth of industrialization in the state

agency to provide assistance to small scale industries in marketing

agency to provide financial assistance to indsutries upto T 20 crores

Lk O - - O £

T ¥ el P &3 & dad & oo
T | SiErie & faem &1 gareg @ed
g 9 & SE @ fauem § wEeer yeW S 9 g

L I hmT e
rajhindinews.com

(D) omruwdr. sarm & T 20 HUS 9% B [&G9g FEEar WeE B gl ool
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54 The National Income estimation in India is the responsibility of which of the
following ?

(A) NSSO ' (B) CSO

(C) Finance Ministry (D) National Income Committee
W W TS e w1 mwe, Ffr & & frgd Rrderd & 2

(A) T THTE af (B) #uw s

(C) R = mem (D) T s whify

55 Which folk instrument of Rajasthan is also known as the Jew’s Harp ?

(A) Khartaal _ (B) Morchang
(C) Ravan Hatha (D) Kamaicha
T & 56 1% amm & g e o wer wmEr &2
(A) TEam™ (B) = =m
(C) wmaw zen (D) =wwrEan

56 Which of the following movie has won best picture in Oscar-2018 ?

(A) Ready player one (B) A quiet place

(C) The shape of water (D) The Ritual
ﬁwﬁémmﬁzmsweﬁww%ﬁﬁw’mfﬁﬁm ?
(A) @ wax = (B) T Tme @

(C) T 9Iv &% arey (D) = frgsm

57 What was the total road length in Rajasthan upto March 2017 ?

(A) 2.26,853.86 km (B) 1,55,972.56 km
(C) 30,313.23 km (D) 1.76.481.99 km
qﬁ2017mw#asﬁa%@wm@meﬂ ?

(A) 2.26,853.86 fpsr (B) 1,55,972.56 fy
(C) 30,313.23 et (D) 1,76,481.99 g

e rajhindinews.com [PTO.
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58 In 2011 the percentage of Rural population in Rajasthan was

(A) 70.2 B) 75.1
(C) 644 (D) 81.9
a8 2011 ¥ Towaw ¥ AT SeEEN @ Wiie ar -
(A) 70.2 B) 75.1
(C) 644 (D) 819

59 In time series seasonal variation can occur within a period of

(A) one year (B) three years

(C) four years ' (D) ten years

HW 9ot F A SeEed # oty ¥ siaia SO & FHA ¢
(A) TH a9 (B) e

(C) =} =¥ - oof (D) =& oo

60 According to Economic Review, 2017-18, the contribution of agriculture in Gross
State Domestic Product of Rajasthan at constant 2011-12 prices in 2016-17 was

(A) 31 percent (B) 43 percent
(C) 25 percent g (D) 16 percent

e wdem 2017-18 % orf@m 2016-17 & Tomam & 2011-12 @ R FEal W
gHd T WE, SARE ¥ F @ AREH o

(A) 31 wfasa = (B) 43 wfas=
(C) 25 whwm i (D) 16 wfsw

61 Which soil are known by the names of usar, reh, alkaline etc ?

(A) Brown soil ‘ (B) Red soil

(C) Salty/Saline soil (D) Alluvial soil
ﬂﬁ@rqmﬁw,ﬁ,mw&%mﬁﬁrmm% v
(A) b P& (B) =

(C) warig frgdr _ (D) weirg fagd

37] =i rajhindinew$.com [PTO.
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62 The total number of children born or likely to be born to a woman in her lifetime,
if she were subject to the prevailing rate of age specific fertility in the population,

is known as -
(A) Birth Rate (B) Total Fertility Rate
(C) Reproduction Rate (D) Maternal Reproduction Rate

@qﬁm%@mﬁ%@mamaﬁﬁaﬁm,mﬂmm
ﬁwﬁﬂmﬁwﬁmﬂﬁmﬁ%,mﬁ%— -

(A) &9 =T (B) w0 wdan =

e et T S |

(C) w97 7T (D) 7@ 9o =T

63 Reserve Bank of India was established on

(A) 1%t April, 1935 (B) 12 July, 1982
(C) 28 May, 1963 (D) 15t May, 1930
e % ofe e & wrm 9 i

(A) I o, 1935 (B) 12 wwrE, 1982
(C) 28 =, 1963 (D) 15 =, 1930

64 The number of deaths under one year of age, per 1000 live births, occurring in
a given geographical area, during a given vear, is known as -

(A) Death Rate (B) Birth Rate
(C) Maternal Mortality Rate (D) Infant Mortality Rate

@ﬁﬁgqﬁ?ﬁméaﬁ,waﬁﬁ,qﬁrloooshi%xaﬁr&qafémeﬁﬁéqmaém
W B oy ¥ WM Rrgelt @ wem @, med ¥

(A Jg = (B) w9 77

€) 9 59 w (D) farg 99 =x

37] wh rajhindipews.com [PTO.
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65

66

67

68

_____ and South Korea kicked off the annual military exercise 'Foal Eagle drill'.

(A) China (B) USA
(C) India | (D) Russia
7 <h B ¥ aiE e ww e R qu R |
(A) (B) 3TET
(C) wr@ (D) &=

Lakdawala formula is related to

(A) Poverty Line (B) Literary Rate

(C) Health and Nutrition (D) Human Development Report
ST GEE gt ¥

(A) & T (B) wmarear <X

(C) w@rem 3§ Www (D) wre fywm gfiees

By default, text data is aligned in a cell.

(A) left (B) right

(C) center (D) justify
qﬁaﬁaﬁf%mma@ﬁﬁfﬁ_ﬂ_‘wm% |
(A) W (B) e

(C) ¥R (D) wEIBE

Who received the 'International Colonel James Tod Awards 2018 from Maharana
Mewar Cheritable Foundation, Udaipur ?

(A) Mr. Jadav Malai Payeng (B) Dr. Tessy Thomas

(C) Prof. John Stratton Hawley (D) Dr. E. Sreedharan

T are SRCET Y, ST BN aAw o 2 ot 2018 fd W gem ¢
(A) fu. wEE W 9T (B) =. ¥ ammw

(C) W. w7 §A TW (D) s g dHuw
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69 If coefficient of correlation ' is positive between the two variables (x and y),
we may say that :

(A) Both the variables (x and ¥) moves in opposite direction
(B) If x variable increases, y also increases

(C) if x variable decreases, y also decreases

(D) Both (B) and (C)

M x AR y ¥ weww uiw oS ot a‘rwmmfd%%
(A) i x ox y faela fem & Rl 23 ¢

(B) 3T x 95 3, @ y oY woar ¥

(C) &7 x &9 &1 &, @ y W & B &

(D) =Ml (B) 7 (C)

70 Which of the following measures of money supply is known as 'Broad money' ?

(A) M, (B) M,

(C) M, D) M,
ﬁwﬁﬁﬁ?%yﬁ%mﬁ‘wm’mw% ?
(A) M, (B) M,

(C) M; (D) M,

71  Which district of Shekhawati Region do not have any river ?

(A) Jhunjhunu (B) Churu

(C) Sikar (D) Northern part of Nagaur
s‘r@mﬁu%w%aﬁwﬁﬁﬁi‘faﬁéﬁaﬁﬂﬁwrﬁmﬁﬁ? &
(A) 391 | B) Tw g
(C) d=x (D) MR &1 ITH A/ %

72 Bilateral monopoly means
(A) Two Sellers and two buyers (B) Two Sellers and Single buyer
(C) Single Seller and Single buyer (D) Single Seller and two buyers
favel it & qed %

(A) = febear o @ (B) & fbar 9 ws e
(C) s fyvar 7 ws Far (D) ws fsar @ 2 Fan

371 = rajhifdinews.com [PTO.


Administrator
Highlight

Administrator
Highlight

Administrator
Highlight

Administrator
Highlight


73

74

75

If the plotted points lic on a straight line parallel to the X-axis of a scatter diagram,
it shows :

(A) Perfect positive correlation (B) Perfect negative correlation
(C) Absence of correlation (D) Curvilinear correlation

ﬁ%ﬂaﬁ@mdﬁﬁﬂaﬁﬁgeﬁw%%%mﬁﬁ%ﬁ%@ﬂm e
g ¥ | J

(A) T eE FEEE (B) T FoeE wewEd

(C) wewad & T (D) % @A qEEEd

In a time series Regression Equation
y=a+bx;aistermedas

(A) y-intercept  (B) x-intercept
(C) Slope (D) Trend

wE FE AN T FEE ki
y=a+bx;€lﬁa‘ﬂr% ?

(A) y-sraQEd ' (B) x-aTEEs
(C) @ (D) wfa

As a result of increase in the price of good X, whose demand is inelastic, the total
expenditure of the consumers of good X, will

(A) become zero (B) not change
(C) decrease (D) increase

aﬁx,ﬁaﬁm&mtaﬁmﬁﬁﬁm,mx?ﬁm@ﬁw
Fu = -

(A) I &M (B) ufwafi@ & &
(C) =&m (D) =&
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76

77

78

Which National week was celebrated during 23 April to 30t April 2018 ?
(A) 27 National Swacchata Abhiyan

(B) 29™ National Road Safety Week

(C) 26" National Fire Safety Week

(D) 20™ National Women Safety Week

23 o & 30 o, 2018 7% N W UL FA® T T 7

(A) 2M g wEEar s

(B) 294t W& =r geam @

(C) 26a1 sy o geen T

(D) 2091 T wfer gean @

The average of 40 numbers is zero. Out of these the maximum number of positive
numbers may be '

(A) 39 (B) 20

©) 1 R
40?@%@%3@%:Wmmmaﬁaﬁmﬂxmqﬁwﬁm%—
(A) 39 (B) 20

€) 1 (D) 0

Which of the following banks launched country's is 1%t integrated lifestyle and
banking digital service platform named YONO (You Only Need One) ?

(A) SBI > (B) IDBI
(C) PNB (D) BOB

ﬁwﬁﬁmh%%ﬂmuuwwmﬁaaﬁnﬁm‘ﬁzﬁ#ﬁq@ﬂﬁﬁs
) gE fem & 7

(A) SBI (B) IDBI
(C) PNB (D) BOB
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79

80

81

Which of the following is not a function of Directorate of Statistics and Economics,
Rajasthan ?

(A) Coordination of statistical activities of various departments

(B) Promote duplication in collection and conipilation of data

(C) Adopt accepted standards in collection of data

(D) Suggest ways to improve the quality of data
ﬁwﬁﬁm,aﬁ%@mﬁ%mﬁﬂ,mmmﬂﬁ% ?
(A) fafr= Rvmil & wifeast Tafafat § sH=Ed

(B) wiwel & wwEw T wwew ¥ fapw

(C) wiwel % dUew § W4 HAHI B I

(D) siwdl & e ¥ gUR & AW &

Fisher's index number does not satisfy

(A) unit test (B) time reversal test
(C) circular test (D) factor reversal test
RpSTT BT GHH GG T B T

(A) THEE W™ (B) @Wg — Seprddl W
(C) = i (D) TE@-Sehrgdl W

If there are 'm’ chances of occurring an event and 'n' chances of not occurring,
then the probability of occurrence of that event equal to

A m = m
i m+n (B) m—n
& e

© m+n ®) m-n

u&ﬁa@tm%ﬁ%%'m‘@#%aﬂ?#?ﬁ%‘n’aﬁw% | & 3§ TI & dfed oW
# witear w1 B 7

Ny By
( ) m+n ( ) m-—-—Hn
s By
& m+n (D) m-n
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82 The value of Fisher Index Number is -

Price base year e laade o %

Quantity base year : 50 15 20 10 40

Price current year : 20 6 2 JiisaS

Quantity current year: 60 10 25 8 30

(A) 240 (B) 266.7 "
(C) 280 (D) 275

6o & quwis & a9 ¥ ' |
WL W M e o8 2] 9 9

SR A B A 50 15 20 10 40

i A B B 20 6 2 5 5 _

v s A A 60 10 25 8 30

(A) 240 (B) 266.7

(C) 280 (D) 275

83 In Rajasthan Atomic Power Project is located at

(A) Rawat Bhata (B) Barsinghsar

(C) Jahajpur (D) Palana

TS F O] Fot afdior T wef w R &7

(A) T W (B) e i
(C) wEmg (D) wmr 5

84 The installed capacity of power in Rajasthan as on December 2017 was

(A) 10102.00 MW (B) 19536.77 MW
(C) 25325.11 MW (D) 50412.77 MW
T § i, 2017 9% ot @ sfreifa awar o

(A) 10102.00 FrEre (B) 19536.77 #marz
(C) 25325.11 #maErE (D) 50412.77 ¥mEre
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85 Which areas of present Rajasthan were known as Jangal Desh during the
' Mahabharat age ?

(A) Udaipur - Dungarpur (B) Bikaner - Jodhpur

(C) Banswara - Pratapgarh (D) Alwar - Bharatpur

T TR F B Y & TEWG B ¥ Wi AW % AW ¥ We A 47
(A) SR - WX (B) dr@mT — ey

(C) wi\asT — wawTe (D) &wET — WYY

86 Seasonal variation Indice is equal to

(A) (General Average + Seasonal Average) x 100
(B) (General Average X Seasonal Average ) x 100
(C) (Seasonal Average + General Average) x 100
(D) ‘(Seasonal Average + General Average) x 100
i et gus ¥ qOET BT ¥

(A) (amm=a W + Fgenes W) x 100

(B) (anmy wrem x Fgaws wred) < 100

(C) (wgohve @A + g wred) x 100

(D) (wgeie wren + wmrg wwe) x 100

87 Singer Allahjillai Bai of Bikaner was famous for singing raga :

(A) Basanti (B) Jaijaivanti

(C) Malhar (D) Maand

Srr B MirET SR O few T T F e & 7
(A) TE (B) SorEt

(C) w®r (D) =S

88 According to the Budget 2018-19, the estimated fiscal deficit for the financial year
2018-19 as a percentage of GSDP of Rajasthan is

(A) 6.12 (B) 4.23

(C) 2.98 (D) 3.98
2018-19%'«2%3eagmﬁ%hﬂacizms-wﬁm?ﬁmﬁﬁmﬁumm%
Heow (o9 U AR & yhiem % w9 H ¥

(A) 6.12 (B) 4.23

(C) 2.98 (D) 3.98

, rajhindinews.
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91

A Xpa /'Y poao ®) X roa1 /'Y piae
me] [ me]

© Y na0 /Y poao (D) { [me S5

RS g wmew @ e qy ¢

A) > nq / 2. Podo B) Y pog, / 2. Pido
ZPIQ’OJ [ an}

C Ry =

(©) EP]?O/ZPO‘?O (D) {[ZPO% ZPO‘II

Which River is known as 'Dead river' ? |

(A) Mahi (B) Chambal

(C) Luni (D) Ghaggar

EZR AR G R S e— q 9 ool & o

(A) =& (B) w€w

(C) -~ D) =

one of following ?

(A)  Soil quality monitoring (B) Women and child health care

(C) Coal quality monitoring (D) Pension cases
méﬁmm‘mwﬁﬁqﬂf%mw&m%ﬁmmmw% ?
(A) Pz or witg (B) wfter 7 a0 w@rer e

©) @ # o wrg (D) v wpwr
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92

93

94

95

The algebraic sum of the deviations of all the individual scores in a series amounts
to zero, if the deviations are from :

(A) Mode (B) Median

(C) Arithmetic Mean (D) SD

s gEe & o qusEl & ¥ freew @ A dn g # T
(A) wFT® (B) wftmet

(C) WX wreA (D) "ww e

The method of collecting primary data is :
(A) Indirect Oral Investigation (B) Published Sources

- © International Publications (D) Publications of Business Houses

rafs wWE & @UE @ Ofd ¥
(A) swas Hifes STEu (B) weiird &
(C) ot wae (D) =auiis wensd & WS

If Jio invites opinion on its new service through questions on radio and newspaper
and people who respond become a part of sample. Such sampling technique is known
as :

(A) Self-selected sampling | (B) Cluster sampling
(C) Area sampling (D) Multistage sampling

wfmﬁm#g&m%ﬁéaﬁraﬁ%qﬁaﬁﬁ%mmﬁamm
%mm%gﬂmmm&am%,ﬁérwﬁﬁaﬁﬁﬁaﬁnw%ﬁ%,%wﬁaﬁ
&

o 7 i ¢ | o Frestw fafu wT BES & ¢

(A) w4 Fraffaa fresh (B) TE FreH

(C) #www frest (D) wgwla fres=

In Plotting a graph, the independent variable is plotted on :

(A) Abscissa (B) Ordinate

<) Yy (D) a-axis

Yar fm = fEw s & fg @ W @ w fafm s@ &
(A) qoE (B) &ife &

© Yy (D) a-3&
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96

97

If two regression lines are as follows the value of ¥ is :

X =272+0.64Y
¥Y=-3040+126Y

(A) 40 (B) 20

© 5 (D) 7

w&‘ﬁu?hmmaﬁmwﬁw%ﬁga%a‘rfaﬂiwﬁﬂn: -
X =272+0.64Y ?
Y =-3040+1.26Y .

(A) 40 (B) 20

©) 5 M) 7  Delete

Fraction representation of 0.18 is

A 99 : (B) 100
17 A

© 39 D) 5

0.18 &1 =7 fregwr & -

1 )

A) 99 o 100

ol | i

© 99 " 90 %

Which of following scheme is announced by Rajasthan Government for economically
Backward classes in budget 2018 ?

(A) Sundar Singh Bhandari Yojana (B) Smart Work Scheme
(C) Sabko Kaam Yojana (D) Swasthya Beema Yojana

ﬁwﬁﬁaﬁw;ﬁmwm%wﬁmmmﬁ%ﬁmmzolsﬁ
IR

(A) g=Y Rz 9eerd g (B) ®E 9% &M
(C) @ ! &™ g (D) wrem €1 g
37) wha - 29 [P.T.O.
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99 The given demand curve has '

2 :

Price
g

_—
r

0 Quantity

(A) Infinite slope and zero elasticity
(B) Zero slope and infinite elasticity
(C) Zero slope and unit elasticity
(D) Zero slope and zero elasticity

ffu gu W@ 9 W

N
gp D

0o T

v

(A) @@ o adl @ g ¥

(B) maﬁamﬁﬂm%

(©) msﬁzamahasmr&%ﬁw%
(D) &« & d4 §a A

100 Time series does not relates to
(A) Seasonal variations (B) Secular trends
(C) Cross Sectional variations (D) Cyclical variations
Fw g Fygawe freR wEfm T ¥ 7
(A) @ (B) drfmmm faaT™
(C) v faexw (D) =@ g
71 o rajhindinew_%.com (PTO.
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